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Formula-

Profit
Profits — ——T 100
Cost Price

Loss
Loss% = X 100

Cost Price
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Question 1- The cost price of two article are in ratid if first article

30 sold aoﬁt and other article is sold -

) I the selling
price of both article 1s same then find cost price of second article.
T 1- &1 ST 1 56T ToF 9:10 6 I H 81 Ale T8t o 120 T
AT T ST ST & ST 3T SR i 10% AT I ST STl =1 1S ST el
o1 feIshal T WA €, 1 gl SR ohT ohel Hed T shiforl

SP= CP+p

ARs 600
CRs o0 B.Rs 500
Py J D Ra

https://t.me/mathbytarunsirmepl E. None of these
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Question 2- The selling price of milk is thrice the cost price. A person

30 mixes 4 liter of water with 4 liter of milk. Find his profit percent.
T 2- U T oIkl qod NI Hd o1 1 THT 2| Toh Afh 4 et I+ 26l 4

AT 2T o W1 Tt €. 38eht AT TiqTd T shifsT)

A.100%
B7500%
C.400%
D. 600%

https://t.me/mathbytarunsirmepl E. None of these
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Question 3- A person bought an article for Rs 2400 then he spent Rs _Z_I_L_O
30 Q’S( for the repairing. He wanted to sell i@roﬁt then find the selling

\%// ﬁ) price.

\?Z Ueh ATeh o Teh o] 2400 T4 H GRS A1 36 HUH o 7T 400 &0 T

[T T8 H 35% AT T ST =Tl @ ST TR Tolsh Ao J1el ehifsw|
CP= <400 +L4o o
(P~ 12800 (QQ~/_

SP< |

357 9f0q

N 40
= ﬁx«%‘@eﬁ @
—=p
- 3%Q A.Rs 2760
© R@ B.Rs 2280
.C:Rs 3780
D.Rs 4280

https://t.me/mathbytarunsirmepl E. None of these
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Question 4- The cost price of 36 article is equal to the selling price of y
30 article. If the total profit earned 1s 20% then find value of y.
T 4- 36 ST 1 569 o y S o oI5k Hed o SR 8| Fle 3ASId e

AT 20% &, T y T T J1d hitor|

<P - L 3]()0"/6 5): 36
R XK —
A.20
lQ@j‘* QJ&: 5¢C B. 10
A sy C. 40
570" 3¢ .30

https://t.me/mathbytarunsirmepl E. None of these
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Question 5- A person sells an article a@oﬁt. If he sells it for Rs 32
30 more then he will gairoﬁt. Find the cost price of article.

T 5- ek STtk Uk A& ol 12% AT 9L =il 8l Ale 98 39 32 T 3A1eeh |
ST 8 A1 3H 20% T <19 BITT| TE] 31 563 0l 14 shiTSIY)

87 = I 32
=3
T e o
B § C.Rs 350
“B-Rs 400

https://t.me/mathbytarunsirmepl E. None of these
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+8=3X 32
{07, SSPT = o | = %_H
(P> 00 =L X (o

[t
@ (fP— ]Oﬂﬁw‘ SSPT= 112 -
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Question 6- A person sells an article at 20% profit. If he bought 1t at 10%
30 less and sold for Rs 90 less then he will gain 20%. Find the cost price of

article.
T 6- Ush Afth Teh o Rl 20% AT T si=rdll 81 Afe o8 36 10% 7 T

EiadT & 371 90 ®T ¥ H si=rdT 2 Al 36 20% T AT I, TE 1 564 7o

SIS

A.Rs 550
B.Rs 650
~ERs 750
D.Rs 800

https://t.me/mathbytarunsirmepl E. None of these
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(1) Ld (P— (o282, §PT= 120—
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Question 7- The calculated profit percent on th

1s 25%. Then find actual profit percent.

T 7- Tohel &
AT gfdeTd 1 |
P
257 T | Ackd p7 = Lxjos
K L_’ S \5/
™~
(P He) &D/ - BS.HZ
=3 J—

selling price of an artiélé

Fershel T YR ITEhioTd T STTd 25% 21 T S o

—A33.33%
B.12.5%
C.11.11%
D.9.09%

E. None of these

https://t.me/mathbytarunsirmepl
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Question 8- The cost price of two article 1s same. The first article 1s sold
at 20% profit and other at 15% profit. If the difference between selling
price of both article 1s Rs 160 then find selling price of second article.

T 8- <1 ST BT 5h3 Yo THIH 8| Tl S Rl 20% AT 0T R ol ]
I 15% T 9L ST SITT 81 Il ST gl o forshd 7o o i< 31 37T 160

TR, dl GOt o =T felshd Hed 1 shifsral

HW“* \O% K A.Rs 3680

B. Rs 2280
C.Rs 4280
D.Rs 4480

https://t.me/mathbytarunsirmepl E. None of these
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Question 9- The cost price of two chairs 1s Rs First chair sold at
25% profit and other at a loss of 30%. Find the cost price of first article 1f

the selling price of both article 1s same.

T 9- &1 HIUAT T oh Hed 1950 T 2| Teedl FHHT 25% AT T 3 gl

30% T BT O si=it STl 2. Afe ST a3l AT skl Io 99 2, af gaei]

& 1 hd T [T hitoTl

{5‘ ch %Q/ Q)[ TS0 X /

—E. None of these

https://t.me/mathbytarunsirmepl

A.Rs 650
B.Rs 750
C.Rs 550
D.Rs 600
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Question 10- Two article 1s sold at R 6000 each/ First article 1s sold at_

30 20% profit and other at 25% loss. Find the?verall profit percent or loss

percent. tf’u%
T 10- 31 S&GAT T 6000 T H SI=IT ST 2| I8! S hl 20% TTH T 3R

el S 3T 25% BT ST STIAT | el AT ST AT 8T Jiderd 3
CAISE]

ROV.: {T600q

\‘ S‘/&:_ %6506

0oy - A.10%
IOQX: D / ? B. 15%
— R B C.25%
D.20%

—E_None of these

https://t.me/mathbytarunsirmepl
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Question 11- The cost price of article A 1s thrice of cost of article B. If |
first article sold at 20% profit and second at 30% loss. If the difference

between selling price of article 1s(Rs 900 then find cost price of first

article.
T 11- I&d A 1 563 O I%d B & shF 0 T o9 THT 2] Jfe U] 9%
N N\ N N 9 N

20% AT UL T GELT S 30% BT T si=i STTelt €. Ffe T&q o Tofshdl 7o o

O
N

11 o1 AT 900 T B, AT TeiT 9 o1 JiTehd Hed T hlTsrl
A.Rs 6000
B. Rs 9000
C.Rs 5000
D.Rs 4000

https://t.me/mathbytarunsirmeplqE' None of these
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Question 12- The cost price of two article are in ratio 4:5. If these article
are sold at a profit of 10% and 20% respectively then find ratio between
the selling price of both article.

T 12- A1 & A1 363 HT 4:5 o AU H 8] Tl 37 & hl SHA:
10% 3R 20% 3 TATH G = ST 8, A1 M1 &S] oh (<156 7o o s

S ERIGRIGEEAISD]

AT11:15
B.12:13

C.11:13
D.14:15

https://t.me/mathbytarunsirmepl E. None of these
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Question 13- The profit percent when article 1s sold at for Rs 70 1s same

as that of loss percent when same article is sold at Rs 50. Find the profit

percent or loss percent.

T 13- ST & sl 70 ®GF H =1 ST & o1 AT Tic=rd ST & bl 50 794 §
ST 9T BT TTeTd oh SIe BldT &l AT Iiasrd 3T |1 JTaeTd JTd shifsi|

A.10%
B.27%
C.30%
D.44%

https://t.me/mathbytarunsirmepl - None of these
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Question 14- The cost price of 8 article 1s equal to the selling price of 12

{0 article. Find the profit percent or loss percent.
T 14- 8 ST o1 569 {12 TEGAT o Tk Hod o sIsR 81 AT Tiasrd

7 BT gfeTa J1a shits|

«./15(.33.33#7‘
B.11.11%

C.9.09%
D. 18%

https://t.me/mathbytarunsirmepl E. None of these
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Question 15- The profit percent on the cost price of an article is 10%.

30 Find the profit percent on selling price of same article.
7 15- ToRET T o 3 T W AT WTARId 10% 21 36T 3% o forshl e W

AT gferera F1a il

A.33.33#%9,

B.11.11%
€9.09%

D.18%

https://t.me/mathbytarunsirmepl E. None of these







https://t.me/mathbytarunsirmepl



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33

